
ÛÈ√¬Ğœşœ›ĆþÁ
ÏĞœÜİ¼ĞÂI=Šþ„−Â=şÔ˛ÁœI=ÛÏ?œ¼¼ć=J=›ÝÏş√¬¼ć=J=OMMP
ş√³œ×˝=Ó=ÛÈİœ˝=₣Ž„₣×œ¼ć
›ş=JNNI=›ÝK=˘₣K=›şK=¶œ½=È˝œŞćœÐœşÂ⁄=›ş›ÐÈşhÐœ¼ć=×„ˇÂœ³„¼ć=I=TNPONS

şÒŠÌ³p

ˇ®pÆ₣=Ó
›İŞćœğ=JJ=₣œ²Ï¼à„=¼ćœŞć
¾œL²=JJ=ÛÏİœ˝=₣Ž„₣×œ¼ć
²Ò¼ćŽœĆœ²=JJ=ş„˝₣ğ=ÏŁœĞ
ş₣ÏŞć¼ć=şÏL=Ï×˛œ=JJ=˝ÚÏĞºà„=¼›Þ˝
Š¼ćÞ×œş=JJ=›¼₣ğœπ‘şá≈=ŠpÆ¼þÂÌ
şÔpÆ₣Þ===JJ=Ï×¼Ì×œş₣œğœ˝œ¼ć
Ïş=˘˝=²þ„²=˝›¼=JJ=›ˇ¼ćÌÑ²œ−=Šœ˝Ì
¼×²=¼œÝı¼ćÌ¼ć=¹₣Â=˝₣Â=JJ=¹ÌÈ¼ć²=Ï×¼
˝ÁœÏ₣¼ćœ¼ć=ÏğÏâ¼ć=¼ğÏŞć=Ï˛œğœ=¼Áœğ˝›=²=JJ=ş„¼ğ=ÏŁœĞ

Û²„¼œ×=ˇ®
˘˝Ž²=¼ÁœÏŠğœ=È=¼ć¼ć=₣Úþ„Á=JJ=Ûœ−Âœ¼ć›ƒ≈Ð‚Ž‚ğœ¼ć=J=¾œĞœ∑i¼ć=Ó=İŠÌ²=×j

›²Şć›₣þ=›¼¾œˇ
ˇ¦i∏=ş₣œÏğœŠ²œ=JJ=Û›Žþ=ŠpÆ¼þÂÌ
₣þœ₣þ
³p³›p˝œ=˚=ˇ¦i∏===şÔ¼œ×

π‘_š×=Ó=ˇÞİ›jÆ=³›p˝œ¼ć=ÏşÍ=Ž=Ï²Á=JJ=Û=ğÔ˝¼ćÏÞÓ=³œ−Âπ‘›þ₣=ÛœŠœŞÂ



›³˝›²˝

Ćœ˚ŞćœÈ×¼ć=˝−œ=ÛœÈˇ˚=ĆÈŞćÈš⁄
ÛœŽ=¼›ğ=¼œ›ğ=Žğ=Ûœ¼ć=È¼ćœs„È¼ć¼ć
˝−œI=˘˝=₣„Èðœ=¼œ›ğ¼ć=È¾þ¼ć
¼Òœ¹œ=›šğ=›²Óª…œş⁄=ž„È¼ćœ=˝Þœ
È−È˝=È¼Èš=›²ÈŞć›š=ÛÈï¼ć=žğ˝⁄
ŽÈğ¼ć=Èƒ¯œþ=È¼İÌ=²ŞćI=þ¼„˚=¾œ›şÈŞć
›²ÈŞćÈš=›˝š„=›³³œşœ⁄=₣¹ÁœÈĆÆ¼ć=È¼ćœ×
ÈˇÈŞć=ÈˇÈğœ=›˝š„=ÈŠ²œ=Èİœ²œ=ˇœ²⁄
Ûœ¼ć˚=¼ÈğÈšI=Ø¼œ›ğ=È−È˝=ÈšÒÈ˝
²œ˚=₣„jÆª…œş=şœÈ−=³œÈ¼=›˝š„
Ûœ{Âþœ˚⁄∞

ş„›₣þœ=²àÌ
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